EXAM FOR COMPASSIONATE GROUND APPOINTMENT, PAPER-I
TIME: 3 Hours TOTAL QUESTIONS:100
DATE OF EXAM: 24.11.2023 TOTAL MARKS: 100

Fill in the blanks with one of the words given in brackets against each of the following 07

1 questions:m@amq%ﬁﬁ@W%ﬂmﬁWﬁmmmEﬁﬁ@WWﬁﬁaﬁ

R W

Who __ therace yesterday?
a) win

b) won

c) wines

d) None of the above.

(b)

2 Radhika very well.
a) dances

b) dance

c¢) dancing

d) None of the above.

(a)

3 Children enjoy __ the TV program.
a) to look at

b) watching

c) to see

d) None of the above.

4 In a classroom, students are to be trained to love
a) one another

b) altogether

c) each other

d) None of the above.

()

5 Our new office is equipped ___ all the latest technology.
a) by

b) with

c) from

d) None of the above.

(b)

6 Sheis ___ honorary secretary of the club.
a)an

b) a

c) the

d) None of the above

(a)

7 _____old man wanted to see you in the morning.
a)a

b) an

c) the

d) None of the above

(c)

Which is the correctly spelt word-

g dai-] aTell e P T 3-
a) sincere

b) Sinsere

c) Sinceer

d) Sinceere

9 English is not ............ easy language.




a) the

b) a

c)an

d) None of the above

10

If you want to be good at football, you need a very spirit
a) compete
b) competition
c) competitive
d) competitor

11

Let us discuss matter seriously.
a) An
b) A
c) The
d) None of the above

12

He a business with his father’s money
a) began
b) started
¢ did
d) performed

13

Select the on-word substitute for the words below:

o fau U Srsal o fo ofiF-a8 fased g
People who work together at the same place
a) Rivals

b) Colleagues

c) agents

d) friends

14

Select the on-word substitute for the words below:

3 R g et ¥ fore i aE Rwea 71
That which cannot be heard

a) Invisible

b) hidden

c) slight

d) Inaudible

15

Select the appropriate indirect form

SUGed ST T T TG D

Kiran said, “I will reach Patna tomorrow morning.”

a) Kiran said that she will reach Patna tomorrow morning.
b) Kiran says that she will reach Patna tomorrow morning.
¢) Kiran said that she would reach Patna the next morning.
d) Kiran said that | will reach Patna the next morning.

(c)

16

What is the synonym for the word “Accessible”
a) Attainable

b) Jovial

c) Satiable

d) Restricted

(a)

17

What is the synonym for the word “Gain”
a) Advantage

b) Loss

c) Failure

d) Exhaust

(a)

18

What is the antonym for the word “ARTIFICIAL”




a) Unreal

b) Unnatural
¢) Assumed
d) Real

19

Select the correctly spelt word:

g} gt a1t Xeg T T B

People who work together at the same place
a) Bigining

b) Beggining

c¢) Beginning

d) Begining

()

20

A strange woman entered........room and closed the window.
a) the

b) into

c)in

d) None of the above

(a)

21

Which is the highest mountain peak in India?

YR B Fa St gdd et b1 A 3
a) Nanda Devi/:fafara)f
b) Kamet/?ﬂﬂ—crqa;a

c)Zaskar/SIRMH
d)Kanchenjunga/d-ToTdl

22

Who is known as the “Father of our Nation”?
"SHR FUTE SITdT o1 i § F U & "2
a) Mahatma Gandhi/IIBWTTIT‘iﬂ

b) B.R Ambedkar/aﬁ 3R FISH

c)Rajiv Gandhi/TITrﬂH TTieht

d)Subhash Chandra Bose/ ﬁﬂ-ﬂ'ﬁ[%ﬁ{&ﬁﬁ

(a)

23

“Gateway of India” is located at

e aifp 2far & R = g 2
a) Chhattisgarh/@?ﬂw

b) Delhi/feewil

c)Mumbai/'EI@I—iF

d) Agra/3ITIRI

(c)

24

Dada Saheb Phalke award is given in which field-
ITeT HIes e GRER fob et & # foa o &-
a) Music/@'ﬂ?‘f

b) Sports/@?’[

c) Agriculture@m

d) Film/fthed

25

The Speaker of Lok Sabha is elected by
TANHGHT BT FUTIT / TR FERIGAT A |
a) All members of the Lok Sabha/mﬂ-ﬂ%Hlﬁmm
b)People directly e ST gRT

c¢) All members of Parliament W%Hﬂ-ﬁmm

d) Chief Justice of India W%H@W?ﬁ?ﬂm

(a)

26

Full form of LAN-

(b)




LAN T JUf & 0-
a) Logical Area Network NISEEN] TR Jcad
b) Local Area Network @b d URYT Acdd

c)Landscape Area Network a'seaou QIQZII '?Iddé?

d) Least Area Network TIIRC TR Jcad

27

The largest cell is ....?

a) Nerve Cell T4 9
b) Ovum 3NgH
c) The egg of an ostrich T 3 T4 &T@'ﬂ

d) None of the above _Q':Iff@fa'ﬁ—ig:rﬁ?f

(c)

28

Which is the longest dam in India?
AT T T AT 79 HIF AT 57

a) Hirakud Dam Wﬁﬁﬂ
b) Kallanai Dam HedIIg S1Y
c)Tehri Dam %@ﬂaﬂﬂ
d)Ukai Dam G'Eb—fga:[?l

29

Which is the largest Planet in our Solar System?
THTY HITHES T a9 T=T Ug i a7 872
a)Mars/ HITA

b) Jupiter/ qsmﬁl

c)Uranus/

d)Earth/ged!

30

What is the first Capital of India?
AT T TTSTTAT 7 872

a) Mumbai/ 13‘@1‘5‘

b) Nasik/ RIS

c) New Delhi/ T&F%Q‘_Q‘ﬁ
d) Calcutta/ bl

31

Lord Buddha was born in?
AT G5 T ST7H Fgl g AT?
a) Lumbini

b) Pune

¢) Mumbai Hﬁl—g
d) New Delhi/ T8 feweft

(a)

32

Who was first Law Minister of India?
AT o TEl I HAT I I7?
a) A.P.J. Abdul Kalam T T S 3Teqd FeATH

b) Dr. Bhimrav Ambedkar =t {91 sfaes<
c)Pandit Jawaharlal Nehru 9T STATEL AT A=

d) Lal Bahadur Sastri @7 SgTgY QTR

33

How many Railway Recruitment Board are there in Indian Railways?

TTEA T ¥ § fohae Yoy et 1€ 82
a)21
b)22
c)23

(a)




d)24

34

Who was the First woman president of India?

AT il TIH HIZAT TP i 2ff?
a) Pratibha Patil gfayT arfed

b) Sonia Gandhi Tqifra wieh
¢) Indira Gandhi 3'%“ TTieht
d) Mayavati HraTgd

35

1L is equal to how many milliliters?

1 e fora fAefiefter F @ grare?
a)10 ml

b)1000 ml

¢)100 ml

d)10000m|

(b)

36

Which planet is our solar system is known as the Blue Planet?

AT SRS (e U ol AT Tg o ATH & SITHT 1T 872
a) Mars/93Tet

b) Uranus/{i‘vﬂ?
c) Earth /‘I%ﬁ

d) Neptune/Tq=I

37

Who invented the Telephone?

TATRIA T s e foram?

a) Alexander Graham Bell @WW@E
b) Thomus Alva Edison YT 37T UfeTA

c) Johannes Gutenberg WW

d) Mark zuckerberg HIHh

(a)

38

The lowest form of Computer Language is called:

FIET AT & HHTH & &l Fgl ST &
a) BASIC

b) FORTRAN WReH

¢) Machine language AT T

d) COBOL

39

Where is RAM located? RAM W@R‘T%
a) Mother Board AR de

b) Expansion Board Wa:lﬂqahé

c) External Drive Q?JFHET-T?[

d) None of these ‘s’:lﬁ@raﬁéﬂfﬁ

(a)

40

what is the physical phase of life called

Sfyae & AT =207 T AT FZTSATAT S
a) Protoplasm ~ TTEcATSH

b) Cytoplasm HATEETTATSH

c) Organelles  3RTHH

d) None of the above ~ TAH ¥ FIs Aol

(a)

41

Which is the largest human cell?

TH T TS FITAHRT I AT 52

a)liver for@T  b)Skin R c)Spleen F=f9 d)Ovum aH

(d)

42

Where is the Headquarter of ISRO




ISRO T EATAT Fgl &
a) Chennai =¥%

b) Karnataka #FTcH
c) Bangalore ~&W&IX
d) Delhi fa==t

43

Which state is famous for Spice production?

AHTAT ST o T i |7 757 I8 22
a) Assam JI9H

b) Tamil Nadu TS

c) Kerala ¥t

d) Odisha =T

44

What kind of a tax is GST?

GST FATEF g ?

a) Direct tax II&T &Y

b) Income tax/ ATTHT

c) Value added tax = & T
d) Indirect tax AITTET L

(d)

45

Which state has started “Mukhyamantri Ladli Behna Awas yojana”?

TR ST "R EAT ATSAT g STETH AT 80 i 82
a) Madhya pradesh T&T T39T

b) Maharastra H#3T{Tg

c) Jharkhand STT@E=E

d) Tamil Nadu @A

(a)

46

Who won gold medal in the men’s javelin throw at the Hangzhou Asian games?
FISIT UIAATE WAl § TEU1 T ATAT e § &7 q@ah (el el STrar?

a) Avinash sable 3Tfa=Ter Traer

b) Kishore jena freTe ST

c) Neeraj chopra 1< ATIST

d) Lovlina Borgohain @ae AT SIITTgTe

47

The fourth state of matter is?

T T AT e 92
a) solid 319

b) liquid &<

¢) plasma TATSHT

d) gas &

48

Who built Ashoka pillar?

9T T 7 TAATor BFee e am?
a) Skandagupta THa[H
b) Ashoka 2T9TT

¢) Bindusar famgam®
d) Kanishka FfAeh

(b)

49

What is used in storage batteries?
FETOT St § #7972 fhT ST 82
a) copper &I

b) lead =

c) tin CACH

(b)




d) zinc foiF

50

Indian Army day is celebrated on-

AT AT faas 7= S 8-
a)15" January 15 ST

b)16™ October 16 TFza<
)29 March 29 ®TH

d)18"™ December 18 fe&Ta™

(a)

51

The uppermost layer of the atmosphere is-
ATHSA T HEH ST T 8-
a) Mesosphere/FaTERIY

b) Troposphere/&Ts =
c) Exosphere/ffata+
d) Stratosphere/THATT HET

52

India’s first underwater metro train is being constructed in which place?

T il Tgetl SISTaTey Hal & HT A 0T fohe eI 9 FohaT ST 2T 872
a) Trivendrum/ Bazw

b) Kolkata/ FTeTshTaT

c) Mumbai/ﬂ?ﬁf

d)Vishakhapatnam/ %9TF@T‘4§‘«I’H

53

Which one is the longest epic of the world?

2o T e T GETHRTST i A7 272
a) Ramayana/ TTHTIIT
b)Ramcharitmanas/TTH= aATAH
c)Mahabharata/ HgTH1Zq
d)Hanuman ChaIisa/%TjH'lT-rﬁ'l?ﬁ'ﬂT

(c)

54

Which is not an input device?
& |1 3 fRarsd 98 82
a) Keyboard/ e

b) Light pen/ @Tg< =1

c) Mouse/HT39

d) Printer/fSe<

55

Which river flows between Ladakh and Zaskar range?

TET AT STTERT AT o A1 i & Tl qgdl 8?
a) Indus/feg

b) Satluj/ara<TsT

c) Ganga/vIiTT

d) Ravi/Tf=r

(a)

56

In which year did Railways start in India?

AT | ¥ T Hend g a9 g2?
a.1953
b.1853
c.1896
d.1858

57

How many players are there in hockey?




g H T faed 2ra 82

a)7
b) 9
c)12
d) 11
58 | ICC world cup 2023 final played between countries? (b)
ICC farsar 7 2023 T wrEAw Z9TT o &= &7 TAT?
a) India Vs South Africa HTXd d9TH 913 IvhreRT
b) India Vs Australia ATId ATH SATE (T
c) India Vs New Zealand TR a9TH =Iiiie
d) India Vs Pakistan STZd a9 OT{hedre
59 | Name of the ICC World No.1 Rank ODI Batsman? (b)
ICC Fe€ Fa< 1 ¥ TS ToctaTol T ATH?
a) Suryakumar Yadav g FHIL 129
b) Shubman Gill FH= R
c) Kane Williamson F faferar
d) None of the above. THH & FIE Aal
60 | Who is the captain of Indian Football Team which is participating in FIFA World Cup Asian | (c)
Qualifiers Second Round Group A?
FIRT FaPa 9 UIE FTATRIAT 6 AL TSE T U § AN o ATl T AT T Feaie S T HaTT
T 2?
a) Vikram Pratap Singh fasw yamo &g
b) Anirudh Thapa A& 9T
c) Sunil Chhetri g=ter &=t
d) Amrinder Singh sif¥a f&g
61 | (35 _ =7 (c)
(2)+ as-6)x9 =
a.99
b.112
c.113
d.6e9
62 | Aalone can do a piece of work in 8 days while A and B together can do the same work in 6 days, (a)
in how many days B alone can complete the work?
A STREAT U FTH I ST g TohaT T | (a1 8A 31T B THATHT IHT TH &l ¢ Thd #Z | a1 6, B
TRl I TH [ ohael faaT | QT T Tl 22
a.24
b.30
c.15
d.12
63 | Two inlet pipes, A and B can fill an empty cistern in 22 and 33 hours respectively. They were

opened together but pipe A was closed 3 hours before the tank was filled. Filing the tank what
is the number of hours taken by both the pipes?

FT T TT2H, A 3% B T GTAT 2ehl &l FHHLT 22 13T AT GIAT T7F U 375 g T 9§ He 33
UTST TE HE 3 F WA 3 AT ATA T 57 F 37 0397 2T EF A1 52 | 41 9redi g forg

(a)




T HET AT HEAT FAT 82
a.15

b.16.2

c.14.2

d.16

64

By selling a pen for Rs 144, Anurag loses 1/7 of the cost price. If the pen was sold for Rs 189,
what would have been the profit percentage?

U U9 &1 | T 189 Tl FeTH FTQ g1 It &I il 7/1 T JoF ARTT &l LT 9T 9494 § % 144
STTAT ST, a7 AT TTerd T grar?

a.11%

b.12.5%

c.11.5%

d. 14%

(b)

65

Solve: 9-2*(4-1)
a.5

b.8

c.6
d.3

66

If 3 times a number is 21, what is the number?
T oY & &7 1 3497 21 B, 1 5T #1577
a.5
b.6
c.7
d.8

(c)

67

If a train covers 450km in 6hrs. what is its speed?

Tf% U o 6 5 7 450 FHHT AT T TF FAT S| ZF0! T F4T 82
a. 75km/h

b. 60km/h

c. 70km/h
d. 80km/h

(a)

68

If a rectangle has a length of 6cm and a width of 4 cm, what is its area?

TS UF AT 6l AGTS 6 FHT 3T ATSTS 4 THT g, AT SHHT SAHA FAT 872
a. 12cm
b. 24cm
c. 30cm
d. 20cm

69

50% of 200 apples are rotten. How many apples are fine?

200 T H 7 50% HF T2 gU 5| o o9 S 82
a. 100
b. 150
c. 125
d. 200




70

A bus covered a distance of 180km. If speed of this bus is 30km/hr, then what will be the time
taken?

U 99 180 FoheT Y ¥ T & =fe To 5 v i 30 FFfi/seT g, a1 RawT 9T ST?

a) 4 hours

b) 2 hours

c) 6 hours

d) 5 hours

()

71

The simple interest on Rs.6000 at 7% per annum for 5 years is?

6000 FTF 9T 5 T o 1T 7% ST A T &2 & ATLTIOT ST Foha AT ZRIT?
Rs. 1050
Rs. 2000 C. Rs. 1750 D. Rs. 2100

(d)

72

If a watch is sold at a profit of 25% and the cost price is Rs.80. What is the selling price?

T3 T TET 25% ATH IS4 ST ¢ ST AW qoF 80 w9 2| oA g7 771 272
a) Rs. 90

b). Rs. 100

c)Rs. 110

d) Rs. 120

73

What is the LCM of 6, 82 6, 8 FT LCM T 2?7
a) 24
b) 28
c) 36
d) 12

(a)

74

The average age of A,B,C is 10 years. If the average age of B and C is 12 years. What is the
average age of A in years?

A,B,C ¥ SfEd AT 10 A 81 AT B ¥ C T 3raa o 12 A9 g1 0T § A T e A7 47 872
a) 10 (b)

b) 6

c)8

d) 12

75

If a triangle has three sides of equal length, what type of triangle is it?

Tt et st 67 T TS q9T Aars 6 af, av ag o6 T # B 62
a) Scalene

b) Isosceles

c¢) Right-angled

d) Equilateral

76

If 4/5 of p=3/2 of q, then find the ratioof qtop ?

T3 p T 4/5 = q FT 3/2, AT g AT p FT FAITT ATT FITAT
a. 8:15

b. 24:13

c.5:3

d. 21:6

(a)

77

The ratio of boys to girls in a class is 2:3. If there are 20 boys, how many girls are there?

e FeAT | 2! T AS (R AT & T 2:3 {1 77 20 = &, A7 Foha=T et fonat &2
a. 15
b. 25
c. 30
d. 35

()

78

The average of 10 nos is 8. If the average of first 9 nos is 7. Find the 10" number?




10 HEATSAT T ST 8 g1 AT TZAT 9 HEATSAT A ATET 7 1 1031 HEAT AT FhITorT?
a) 15
b) 20
c)18
d) 17

79

Find the value of x in the equation 3x+6=15

THFLT 3x+6=15 H x FT HTT 3TTT 1T
a)3
b) 4
c)5
d) 2

(a)

80

The number of 3 digit numbers divisible by 6, is

6 7 fawrsT 3 s Hearer it §ear g
a. 149
b. 166
c. 150
d. 151

()

81

Look at this series: 3, 6,9, , 15. what number should come next?

TH EATHI 461 3, 6,9, _, 151 3T Tl &I HEAT AT AT U2
a) 22
b) 12
c)18
d) 10

82

Which word does NOT belong with the others?
I T 9153 O F HAT8d Aal 57

a) tree &7

b) sky JTEHTT

c) seed EiS]

d) fruit %<t

83

Desert: Sand :: Sea:
TR ¥ T
a) Water qT=r

b) Tide SATL-HTT

c) Fish Tt

d) Crocodile A TTH=,

(a)

84

CF, BE, AD, ZC, ?
a) UB
b) YU
c)YB
d) VU

()

85

If A'is to the South of B and C is to the east of B, in which direction is A with respect to C?

TfT A BFIFATHEATC,BF A HEG, AT CHaad H A FFy fRem # 82
a) North-East 3¢ -4

b) North-west 3T¥ — If2r®

c) South-East Zferor - 7&

d) South West af&ror - ofarg

86

Sita is 12" from the right end in a row of 30 girls. What is his position from the left end




30 ARt T U Uik | |1 S8 Y H 129 TIF 9 | a70 ST § 36T Rt #4471 872
a. 10
b. 19
c. 22
d. 25

87

Find the missing number:
T HEAT AT H:

1,4,9, ,25

a. 10

b.12

c. 15
d. 16

88

If the day after tomorrow is a Sunday, then what day is it today?
Tfe qEt TfEame g av o & ar faw 22

a. Friday [HaX
b. Monday HTHEATY

c. Thursday &A1Y
d. Tuesday HITAATE

(a)

89

A is the brother of B’s father, what is A to B?

A, B TaT T AT &, AH B FT 8?7
A. Brother 9IS

B. Father foaT

C. Uncle =T=T

D. Grandfather aTaT

90

In a certain language, WRONG is written as GNORW. What will be the code for the word
‘RIGHT?

T [RT2d ATT H, Tod J GNORW @t SITaT 1 &% 'RIGHT' T & 4T gIR1T?
a) HIRGT
b) SIHIU
c) THGIR
d) GHIRT

91

if A means +, B means -, C means ‘/“ and D means ‘*’, then
4D5A2=>?

TREAFTAT+ &, BHFTAT -3, CHFTAT '/ EMTDFT AT *' g, T
4¥Y5T2=7?

a. 11

b. 22

c. 12

d. 10

92

What letter comes next in the series: L, N, Q, U, ...?

FGAT H AT AL BT AT AATE: L, N, Q, U, .2
a. A
b.Y
c. X
d.z

93

Find out the word pair that doesn’t belong from the given alternatives| g QIETTF?IWEEI S

(a)




ST {2 T oot § 4781 8

a. car-transportation Eh‘l'{—‘ilﬁilﬁ
b. sun-star TF AT

c. moon-satellite FEHT-3TIE

d. Jupiter-planet Eﬁ"v"?ﬁ‘ll‘g’

94 | Read the given statements and conclusions, decide which of the given conclusions logically | (a)
follow from the statements.
30 T T S Aot 1 9, o o & R 0 Aot § § S |97 qrens &9 F FA971 w0
SET FHAT 2
Statements: I
All cars are doors THT FTY TTATST &
All doors are hats H¥T Z¥aTST 2ITUAT &
Conclusions: faea:
i. Some cars are hats & FTY 21T &
ii. Some hats are doors F& ZITUAT FXATST &
a) Both conclusion | & Il follows AT fATET | 37 |1 SIHLT F7d &
b) only conclusion I follows Fae et | AT FTAT &
c) only conclusion Il follows a [EHY || STELIT FAT &
d) Either conclusion | or Il follows T ATt | 37 27 || STHHLOT FIAT
95 | Find the odd word: 3@ 9153 Z&l (c)
a. Summer ﬁm%—@
b. Winter sfraarefi=r
c. Car &Y
d. Spring T8 F&q
96 . : (d)
Which shape is the odd? 1+ #T s 5 ?
a. Circle
b. Square
c. Triangle
d. Oval
97 If in a certain language, ‘SUNSHINE’ is coded as ‘TVOTIJOF, then how will ‘MOON” be coded in | (b)
that language?
Tfe forefy fRfera arom §, 'SUNSHINE' T 'TVOTIIOF' % %9 § #hrfed farar Srar 8, a1 s& Ao #
'MOON' T & FHITSd FohaT SITUarT?
a) NPPQ
b) NPPO
c) PPON
d) NQQP
98 | Select the option that is related to the third term in the same way as the second term is related | (c)

to the first term

I Tahed T T3 FY ST A6 T2 F IHT THL T4 g S8 G0 I8 Tge U8 o Haidd g
Book: Paper:: Table: _ ?

qEqh: S T ?
a. School




b. Student
c. Wood
d. Chair

99

If John is taller than Tom, and Tom is taller than Bob, who is the shortest?

T A 219 F a7 8, 3 | i F AT 8, AT T BT A g7?
a.John

b. Tom

c. Bob

d. Insufficient information

()

100

From the given alternatives, select the word which CANNOT be formed using the letters of the
given word SYMBOL

faw U faeredt § & 39 9rex T FIF R ST QU T 9768 F T&AT T START ek gl a=Ta7 AT

LET IS
a) ToY
b) SOY
c) LOB
d) MOB

(a)

TIME: 3 Hrs

DATE OF EXAM: 24.11.2023

EXAM FOR COMPASSIONATE GROUND APPOINTMENT, PAPER-I

TOTAL QUESTIONS:100

TOTAL MARKS: 100

Fill in the blanks with one of the words given in brackets

T o T HI9F § QU 0 9rsai § T U 9ea | =h #1998
Who the race yesterday?

against each of the following 07 questions: FH{IEad 07 T H &




a) win

b) won

C) wines

d) None of the above.

Radhika ___ very well.
a) dances

b) dance

c) dancing

d) None of the above.

Children enjoy _____ the TV program.
a) to look at

b) watching

C) to see

d) None of the above.

In a classroom, students are to be trained to love
a) one another

b) altogether

c) each other

d) None of the above.

Our new office is equipped ___ all the latest technology.
a) by

b) with

c) from

d) None of the above.

She is ____ honorary secretary of the club.
a) an

b) a

c) the

d) None of the above

_____old man wanted to see you in the morning.
a) a

b) an

c) the

d) None of the above

Which is the correctly spelt word-
9T AT ATAT 9153 Tl AT &-

a) sincere

b) Sinsere

c) Sinceer

d) Sinceere

English is not ............ easy language.
a) the




b) a
c) an
d) None of the above

10

If you want to be good at football, you need a very
a) compete

b) competition

c) competitive

d) competitor

spirit

11

Let us discuss matter seriously.
a) An

b) A

c) The

d) None of the above

12

He a business with his father’s money
a) began

b) started

c) did

d) performed

13

Select the on-word substitute for the words below:
= fow s ersat & forw stig-a< fasred 4

People who work together at the same place

a) Rivals

b) Colleagues

c) agents

d) friends

14

Select the on-word substitute for the words below:
A= T U ersat o stf-a< faseT o+

That which cannot be heard

a) Invisible

b) hidden

c) slight

d) Inaudible




15

Select the appropriate indirect form

STIH AT E TI KT =TT HL

Kiran said, “I will reach Patna tomorrow morning.”

a) Kiran said that she will reach Patna tomorrow morning.

b) Kiran says that she will reach Patna tomorrow morning.
c) Kiran said that she would reach Patna the next morning.
d) Kiran said that I will reach Patna the next morning.

16

What is the synonym for the word “Accessible”
a) Attainable

b) Jovial

c) Satiable

d) Restricted

17

What is the synonym for the word “Gain”
a) Advantage

b) Loss

c) Failure

d) Exhaust

18

What is the antonym for the word “ARTIFICIAL”
a) Unreal
b) Unnatural

c) Assumed
d) Real

19

Select the correctly spelt word:

el aqet aTel 9763 T AT L

People who work together at the same place
a) Bigining

b) Beggining

c) Beginning

d) Begining

20

A strange woman entered........ room and closed the window.
a) the

b) into

Cc) in

d) None of the above

21

Which is the highest mountain peak in India?
YRA B! JaY Sl ydd dIcT pIF Hl g7

a) Nanda Devi/ et

b) Kamet/ HIHC Tdd

c)Zaskar /l¥h
d)Kanchenjunga/baedl




22

Who is known as the “Father of our Nation”?
"SHR APUATE ST ST fobd H T b "2

a) Mahatma Gandhi/ HE'IHZITTIT%ﬁ

b) B. R Ambedkar/ d 3R 3TdSHI

c)Rajiv Gandhi/TSid et

d)Subhash Chandra Bose/ ﬁllTﬁf?&'EﬁF

23

“Gateway of India” is located at
ied off 3far 2 R R w2
a) Chhattisgarh/ DUNTG

b) Delhi/ el

c)Mumbai/Has
d) Agra /3R]

24

Dada Saheb Phalke award is given in which field-

GIGT WTed Wieth JIHR [y & T a1 91T 6-
a) Music/“v’i"ﬂﬁ

b) Sports/ |d

c) Agriculture/

d) Film/f%ed

25

The Speaker of Lok Sabha is elected by

ATHAAT T TATIS / T T & ZIT AT SATaAT & |

a) All members of the Lok Sabha /T &&HT o THT TZ&4T T
b)People directly HTer St=aT gTXT

c) All members of Parliament 6% % T H&&41 g1

d) Chief Justice of India 9T¥d & H&T =TT FIT

26

Full form of LAN-

LAN &1 Ul &U-

a) Logical Area Network /S TSThel TRAT deaeh
b) Local Area Network /T Tehet TRAT Adh
c)Landscape Area Network /€T TRAT Aeas
d) Least Area Network /Tee UAT Aea®

27

The largest cell is ....?
TqaH TS HITIHT @....7
a) Nerve Cell/ 79 &«
b) Ovum /3=
c) The egg of an ostrich /T (F U A FeT
d) None of the above/ TAH H &I A&l




28

Which is the longest dam in India?
ATEA T TaH AT A7 i q7 8P

a) Hirakud Dam  8RI$S &Y

b) Kallanai Dam  HedMIg §iY
c)Tehri Dam ﬁ?ﬁaﬁ'&[

d)Ukai Dam 3I®Ts §iY

29

Which is the largest Planet in our Solar System?
AT AILHSA ] T8 T2T U FId AT 52

a) Mars / WA

b) Jupiter/

c)Uranus/

d)Earth /gt

30

What is the first Capital of India?
ATEA il TSTLTHT FT 8?2

a) Mumbai/ H&s

b) Nasik/

c) New Delhi/=s faeeft

d) Calcutta/dhcdddl

31

Lord Buddha was born in?
FRTET &5 T ST7H gl gl TP
a) Lumbini /

b) Pune /E@f

¢) Mumbai/H&%

d) New Delhi/ s faed!

32

Who was first Law Minister of India?

AT o T&A I HAT I AP

a) A.P.J. Abdul Kalam T T ST 355 HATH

b) Dr. Bhimrav Ambedkar Sf HIHId HdSHT
c)Pandit Jawaharlal Nehru UfRd TA1EL AT Ag®
d) Lal Bahadur Sastri @7 agTg< ATHT

33

How many Railway Recruitment Board are there in Indian
Railways?

ATLA T T | Fohd e 9 91 a1 5?2

a)21

b)22

c)23

d)24




34

Who was the First woman president of India?
AT hl TIH HigdT TP i A2

a) Pratibha Patil ~ UfdHT urfed

b) Sonia Gandhi TfaT il

c) Indira Gandhi i mieh

d) Mayavati Tt

35

1L is equal to how many milliliters?

1 e fra fefifier F aaegare?
a)10 ml

b)1000 ml

c)100 ml

d)10000ml

36

Which planet is our solar system is known as the Blue Planet?
2T HILHES (e T [ ATAT U F ATH & AT AT 82

a) Mars /|3t

b) Uranus/T3A9

c) Earth /94T

d) Neptune /q9=99

37

Who invented the Telephone?

ATRIA T ATt fohad e

a) Alexander Graham Bell Wmaﬁ
b) Thomus Alva Edison YT 3fed] TSI

c) Johannes Gutenberg WW

d) Mark zuckerberg HTeh STHT

38

The lowest form of Computer Language is called:
FEIET ATHT o (5 qH €9 &l gl AT 8:

a) BASIC

b) FORTRAN WHRcH

c) Machine language TR HTST
d) COBOL

39

Where is RAM located? RAM W\’@H%
a) Mother Board AR d s

b) Expansion Board TR §18

c) External Drive [efeRs] C'-Tci SIEE

d) None of these BEREIERE




40

what is the physical phase of life called

STTar o |TTceh 90T i 97 Fgl SATAT &
a) Protoplasm  ler=rsq

b) Cytoplasm #TZar=rsq

c) Organelles  3WI=eH

d) None of the above  TAH H Fls Agl

41

Which is the largest human cell?
FaH T AT HITTHT Rl dT 2P
a)Liver Tor@ax

b)Skin FFT

c)Spleen T

d)Ovum r&aHd

42

Where is the Headquarter of ISRO
ISRO T H&ATAT gl &

a) Chennai =%

b) Karnataka #&ic®

c) Bangalore  sRTAIX

d) Delhi faeett

43

Which state is famous for Spice production?
THTAT SCITEH o [o1T i G7 1T TG 8?

a) Assam IHH

b) Tamil Nadu T

c) Kerala #i¥eT

d) Odisha =T

44

What kind of a tax is GST?
GSTHaTFT g ?

a) Direct tax IF&T Y

b) Income tax/ ATHT

c) Value added tax 97 af&d #T
d) Indirect tax IcTeT FT




45

Which state has started “Mukhyamantri Ladli Behna Awas
yojana”?

Tohel TS o "qEIHAT ATSHT AT STATH ST §[F i 57

a) Madhya pradesh &7 J=91

b) Maharastra H#g1X1g

c) Jharkhand #iT@e

d) Tamil Nadu T«

46

Who won gold medal in the men’s javelin throw at the Hangzhou
Asian games?

STl UIOATS WAl § TEU ! ATAT heh H €997 T [ohelel STar?
a) Avinash sable AT Taer

b) Kishore jena faere sH7

c) Neeraj chopra %=t 919ST

d) Lovlina Borgohain Fa« 4T S

47

The fourth state of matter is?
TaT T AT AAEAT 8?

a) solid &

b) liquid 5=

c) plasma TATSHT

d) gas 39

48

Who built Ashoka pillar?
9T T T AT foFee FamaT on?

a) Skandagupta Thei[d
b) Ashoka 319l

c) Bindusar oo

d) Kanishka #@h

49

What is used in storage batteries?
TETLOT S TT § F9T TTRT 63T S[Tam 22
a) copper HaT

b) lead &=

c) tin F9

d) zinc 5=




50

Indian Army day is celebrated on-
ATLA T BT (Rad FATIT 7T -

a)15th January 15 SHa<

b)16t October 16 FFEAL

c)29th March 29 ATH

d)18th December 18 fGaFa™

51

The uppermost layer of the atmosphere is-

ATIHSA ol Fa8 FOT 4T o-
a) Mesosphere /THEHAT
b) Troposphere /&TT H=A

c) Exosphere /A&«

d) Stratosphere/FHATT HET

52

India’s first underwater metro train is being constructed in which
place?

ATLA ol gt ASLATEL HT & T [HHTOT el T 92 fohaT ST 1@ 8?2
a) Trivendrum/ rasw®
b) Kolkata/ FirshTar

c) Mumbai/ o<
d)Vishakhapatnam/ @emamagaq

53

Which one is the longest epic of the world?
T2 =7 o FFT HEThTeT i 97 8P

a) Ramayana/ TTHEIT

b)Ramcharitmanas / THALAHTTH
c)Mahabharata/ #gdaTZd

d)Hanuman Chalisa/ZTHTH ATl €]

54

Which is not an input device?
I |7 A9E (Sared 78l 7

a) Keyboard/ #tare

b) Light pen/ @Tse U=

c) Mouse /HT39

d) Printer/fex




55

Which river flows between Ladakh and Zaskar range?

TETE ST STTERT AU o 1= Tl €T Tl a8l 52

a) Indus/ e
b) Satluj/adsT
c) Ganga /T
d) Ravi/T=
56 |In which year did Railways start in India?
AT | ¥oTd il Lard fohe a0 g2?
a)1953
b)1853
c)1896
d)1858
57 | How many players are there in hockey?
=Y 3 P Rt & 39
a) 7
b) 9
c) 12
d 11
58 |ICC world cup 2023 final played between
countries?
ICC T 9 2023 T HI3AA RUEEIEECEIR R
a) India Vs South Africa ATXd S=TH T3 STTATH]
b) India Vs Australia 9Td s=TH sfiecerdr
c) India Vs New Zealand \TXd aHTH ~ili €
d) India Vs Pakistan HTEd aATH AT hed
59 | Name of the ICC World No.1 Rank ODI Batsman?

ICC FeE 8% 1 ¥ ae TocidTsl &l ATH?
a) Suryakumar Yadav § FHX I1ed
b) Shubman Gill EAT [

c) Kane Williamson &+ fafeame

d) None of the above. TAH ¥ &% A5l




60

Who is the captain of Indian Football Team which is participating
in FIFA World Cup Asian Qualifiers Second Round Group A?

THIRT T T T FTATRIAT 6 8L TS€ Y0 T H AN o arett AT 14
Fediel ETH KT HHTT I 8?2

a) Vikram Pratap Singh fa## yama &g

b) Anirudh Thapa fA%g 4T

c) Sunil Chhetri gt &=t
d) Amrinder Singh #f¥=x g

61

55

(Z)+ 18-6)x9 =2
a.99

b.112

c.113
d.69

62

A alone can do a piece of work in 8 days while A and B together
can do the same work in 6 days, in how many days B alone can
complete the work?

A STHAT T TH &l STaieh g TehdT H¥ | (oAl 8A 3T B &< IHT FIH A 6
& Tohd L H (a1, B 3Tohel 39 FHTH &l Tohad (ad1 § I H Ghdl 5?2

a.24

b.30

c.15

d.12

63

Two inlet pipes, A and B can fill an empty cistern in 22 and 33
hours respectively. They were opened together but pipe A was
closed 3 hours before the tank was filled. Filing the tank what is
the number of hours taken by both the pipes?

T TACE 9129, A 3T B UH Gl 2ehl &l 79T 22 3T Ivg ol Tohd 9 H =< 33
T Tgol B 3 | LA & oA Tohed AT AT GIAT AT UFHA Tl 9 < (<IT IT3T 97|
o T AL H A1 T2 G {70 T Saf it Hed1 Fa71 22

a.l15

b.16.2

c.14.2

d.16




64

By selling a pen for Rs 144, Anurag loses 1/7 of the cost price. If
the pen was sold for Rs 189, what would have been the profit
percentage?

U U 0 ATQ g1 FIAT BT i 7/1 T T AR &l SN I o= H & 144
STTAT 94T § %97 189 Tl HicAH, T ATH TTerd F47 grar?

a.11%

b. 12.5%

c. 11.5%

d. 14%

65

Solve: 9-2%(4-1)
a. 5
b.8

c.6
d.3

66

If 3 times a number is 21, what is the number?
& et g R T A AT 21 8, AT AT FAT P

a.d

b.6

c.7

d.8

67

If a train covers 450km in 6hrs. what is its speed?
T T 2 6 H H 450 TohHT T T TT FLcl gl THDT AT 74T 82
a. 75km/h

b. 60km/h

c. 70km/h
d. 80km/h

68

If a rectangle has a length of 6cm and a width of 4 cm, what is its
area?

T T AT i AdTe 6 GHT ST ATETS 4 THT &, AT SHHT &R FAT 5?2
a. 12cm
b. 24cm
c. 30cm
d. 20cm

69

50% of 200 apples are rotten. How many apples are fine?
200 T9T H & 50% 99 9 gU 2| oha a9 31k 52

a. 100

b. 150

c. 125

d. 200




70

A bus covered a distance of 180km. If speed of this bus is
30km/hr, then what will be the time taken?

U g9 180 TRHT T T T A 7T =& A 7 i 30 TRt EEr 2, av e
qHI T2

a) 4 hours

b) 2 hours

c) 6 hours
d) S hours

71

The simple interest on Rs.6000 at 7% per annum for 5 years is?

6000 FT 9T 5 TY o T 7% T AT sl T F HATLTIIT SATST Tehad AT TP
a) Rs. 1050
b) Rs. 2000
c) Rs. 1750
d) Rs. 2100

72

If a watch is sold at a profit of 25% and the cost price is Rs.80.

What is the selling price?

TR Teh AT 25% ATH TL AH T SATAT @ S AT JoF 80 T g| Tohe Tod FAT 52
a) Rs. 90

b). Rs. 100

c) Rs. 110

d) Rs. 120

73

What is the LCM of 6, 8? 6, 8 T LCM FaT 8?
a) 24
b) 28
c) 36
d) 12

74

The average age of A,B,C is 10 years. If the average age of B and
C is 12 years. What is the average age of A in years?

A,B,C i 3l9q a7 10 99 g1 F(3 B 3T C T slr|d g 12 T | au1 H A #hl
ST A FAT 8?

a) 10 (b)

b) 6

c) 8

d) 12

75

If a triangle has three sides of equal length, what type of triangle
is it?

T et Fregst st i STSITU |1 FaTs il gi, Al a8 ohe ST T Hs 87
a) Scalene

b) Isosceles
c) Right-angled




d) Equilateral

76

If4/5 of p=3/2 of q, then find the ratioof q to p ?
I p FT4/5 = q T 3/2, Tl q A p FT ATATT TG HITo1T
a. 8:15

b. 24:13

c. 5:3

d. 21:6

77

The ratio of boys to girls in a class is 2:3. If there are 20 boys,
how many girls are there?

U FeqT § ASHT 0 ASTRTT F AT 2:3 g1 TTE 20 AZh 5, AT (haT AS 0T
a?

a. 15

b. 25

c. 30
d. 35

78

The average of 10 nos is 8. If the average of first 9 nos is 7. Find
the 10t number?

10 HEATSAT T 3Hq 8 g1 ATe TgAT 9 HEATAT 7 SirEq 7 g1 1091 T&AT A1
Hifor?

a) 15

b) 20

c) 18

d) 17

79

Find the value of x in the equation 3x+6=15

THFYT 3x+6=15 | x T AT ST IS0
a) 3
b) 4
c) S5
d) 2

80

The number of 3 digit numbers divisible by 6, is
6 & [ar9TST 3 Seh1a HEATSH ol HE&AT g

a. 149

b. 166

c. 150

d. 151

81

Look at this series: 3, 6, 9, _ , 15. what number should come
next?
TH EATHRIQE: 3, 6,9, _, 15| 3T hiA T H&AT AT ATRT?
a) 22
b) 12
c) 18




|d) 10




82

Which word does NOT belong with the others?
I |7 962 T | HaTed Aal 6?7

a) tree 9&1

b) sky JmaHTH

c) seed s

d) fruit %<1

83

Desert: Sand :: Sea:
TR HHx:

a) Water 9T

b) Tide SATL-ATT

c) Fish =it

d) Crocodile #{H=,

84

CF, BE, AD, ZC, ?
a) UB
b) YU
c) YB
d) VU

85

If A is to the South of B and C is to the east of B, in which
direction is A with respect to C?

TRA, BHFIAMHEATC, BF @ Hg, MC Fa=d H A e faem# g?
a) North-East 3¢ -3

b) North-west 3L — TF%H

c) South-East zfarr- g4

d) South West Zferor - i

86

Sita is 12th from the right end in a row of 30 girls. What is his
position from the left end

30 ASTRAT 6T T Uik § Har a1d S H 129 TI9 9L g1 970 1§ IqehT 2ot
FATE?
a. 10
b. 19

c. 22
d. 25




87

Find the missing number:
[ AT AT e

1,4,9,_,25

a. 10

b. 12

c. 15
d. 16

88

If the day after tomorrow is a Sunday, then what day is it today?
TS I TEATL g AT 31T i |7 {o 8P

a. Friday g[#9a1X
b. Monday HHaTX

c. Thursday &A1
d. Tuesday HI@EX

89

A is the brother of B’s father, what is A to B?
A, BFUATHIATE S, AHB FTE?

a. Brother ¥TS

b. Father foar

c Uncle =THT

d. Grandfather =TaT

90

In a certain language, WRONG is written as GNORW. What will
be the code for the word ‘RIGHT?

U AT AToT H, Terd i GNORW foraT Srar g1 9s3 'RIGHT' T %e #47
INIT?

a) HIRGT

b) SJHIU

c) THGIR

d) GHIRT

91

if A means +, B means -, C means ‘/“ and D means %’ , then
4DS5A2="?
TRAFTAT+8, BRIAT-g, CH AT '/ gD F:TF '*' g, ar
43T5T2="7

a. 11

b. 22

c. 12

d. 10




92

What letter comes next in the series: L, N, Q, U, ...?
HEATH AT AAL HF aramare: L, N, Q, U, ...?

oo p
X< >

d.Z

93

Find out the word pair that doesn’t belong from the given
alternativesl QQWWWWﬁ%QWWﬁ@Hﬁ%
a. car-transportation Eh‘l'(‘iﬁ_dg?r

b. sun-star J T

c. moon-satellite FIEAT-ITIE

d. Jupiter-planet Ig=Ifd Ig

94

Read the given statements and conclusions, decide which of the
given conclusions logically follow from the statements.

U 0 i o7 [Aehui w1 ae, g o i fou T Aot § | S | it
& H HIAAT T FTLALIT HLAT g

Statements: HI:

All cars are doors HHI &< XaTS &

All doors are hats T TTaTSr 29At &

Conclusions: FehY:

i. Some cars are hats FEFE Mg

ii. Some hats are doors & ZITUTT AT &

a) Both conclusion I & II follows &= [Heht I 3% 11 SIEI0T Hd &

b) only conclusion I follows Fae Aty I SIqET0T FaT 5

c) only conclusion II follows @< HeRT II STHLOT FHLAT &

d) Either conclusion I or II follows o At I ST 1 11 STEI0 F#dT &

95

Find the odd word: 3[R 972 §al
a. Summer IT5H g

b. Winter sfrasreti=

c. Car X

d. Spring 9d F&qJ

96

Which shape is the odd? &I |T & g ?
a. Circle
b. Square

c. Triangle
d. Oval

97

If in a certain language, ‘SUNSHINE’ is coded as ‘TVOTIJOF, then
how will ‘MOON?” be coded in that language?

Tfe et Afsrg 9o &, 'SUNSHINE' &7 'TVOTIJOF' & &9 ¥ #ifeq f&=ar




STAT @, A7 3H 9797 H 'MOON' &l ¥ FHifed AT SITuTT?
a) NPPQ
b) NPPO
c) PPON

d) NQQP

98

Select the option that is related to the third term in the same way
as the second term is related to the first term

3 e d &7 FF9 F< ST qTEY I F IHT Th1E G TAd & T8 O 98 T8l I8 F
Book: Paper:: Table: ___?

RESENEINE FCE KR ?

a. School

b. Student

c. Wood
d. Chair

99

If John is taller than Tom, and Tom is taller than Bob, who is the
shortest?

TR A AT AGT S, AL A T H AT 5, AT TG BIST I 2

a. John

b. Tom

c. Bob

d. Insufficient information

100

From the given alternatives, select the word which CANNOT be
formed using the letters of the given word SYMBOL

o0 U forshed | © I 975 &7 FAT L ST (U T 9768 6 & T ST FLeh
TE! AT ST THhaT

a) TOY

b) SOY

c) LOB

d) MOB

BEST OF LUCK




Answer Key CGA PAPER -1 HELD on 24.11.23

Q No. Ans Q No. Ans Q No. Ans
1 b 34 a 67 a
2 a 35 b 68 b
3 b 36 d 69 a
4 fe) 37 a 70 c
5 b 38 [ 71 d
6 a 39 a 72 b
7 c 40 a 73 a
8 a 41 d 74 b
9 c 42 [ 75 d
10 c 43 c 76 a
11 c 44 d 77 [¢
12 b 45 a 78 d
13 b 46 [ 79 a
14 d 47 c 80 c
15 ¢ 48 b 81 b
16 a 49 d 82 b
17 a 50 a 83 a
18 d 51 c 84 c
19 ¢ 52 b 85 d
20 a 53 c 86 b
21 d 54 d 87 d
22 a 55 a 88 a
23 ¢ 56 b 89 [¢
24 d 57 d 90 c
25 a 58 b 91 b
26 b 59 b 92 d
27 c 60 [ 93 a
28 a 61 c 94 a
29 b 62 a 95 [¢
30 d 63 a 96 d
31 a 64 b 97 b
32 b 65 d 98 c
33 a 66 [ 929 [¢

100 a




